
نیما می خواهد  خودکار بخرد - 1

  تعداد خودکار

  

 

  قیمت هر خودکار
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گام اول: فاصله ي ثابت 

گام دوم:  
 

گام سوم:

جمله ي عمومی 
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5

= x

2000x + 1000 = 3000x − 4000 ⇒ 2000x − 3000x = −4000 − 1000

⇒ −1000x = −5000 ⇒ x = = 5
−5000
−1000

x = 5

3x − 7 = 2x + 6

⇒ 3x − 2x = 6 + 7 ⇒ 1x = 13 ⇒ x = = 13 ⇒ x = 13
13
1

3 =

3x
(جملھ) شماره ی شکل

تعداد نقطھ ھا
1
1

2
4

3
7

4
10

5
13

⇒ 3x − 2
3x + □ = 1 3(1) + □ = 1 ⇒ 3 + □ = 1 → □ = −2− →−

x=1

3x + □ = 4 3(2) + □ = 4 ⇒ 6 + □ = 4 → □ = −2− →−
x=2

3x + □ = 7 3(3) + □ = 7 ⇒ 9 + □ = 7 → □ = −2− →−
x=3
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⎬
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⎪⎪⎪⎪

9b − 3b = (9 − 3)b = 6b

5a + 2a = (5 + 2)a = 7a

a + 3a = (1 + 3)a = 4a

−5d + 3d − 2d = (−5 + 3 − 2)d = (−4)d = −4d

b − b = ( − b) = ( )b = (− )b = − b
2
3

4
5

2
3

4
5

10 − 12
15

2
15

2
15

2 a + a = (2 + )a = ( + )a = a
1
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2
3

1
2

2
3

5
2

2
3

19
6

x

2x − 3
−2
−7

0
−3

5
7

2x − 3 2(−2) − 3 = 2 × (−2) − 3 = −4 − 3 = −7− →−−
x=−2
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